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09 2L HEXZ 853, 157 853, 157 0
Os0HEHA THE X2 S(0I2AY)
853,157,000 = 14! 853, 157
= 129,157
= 724,000
=AEH A 496, 141 496, 141 0




AN XSEEH
M DsHE A
Sl 2AAMYXH (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 38,141
s 458,000
307 glz2+ol & 496, 141 496, 141 0
< 38,141
i 458,000
09 2+HAHEXS 496, 141 496, 141 0
OBXNLH =ABAZ(02AY)
496,141,000& = 14 496, 141
< 38,141
[ia 458,000
SFSUHX& 3,700,000 3,700,000 0
307 glz2+ol & 3,700,000 3,700,000 0
09 2+=HAHEEXS 3,700,000 3,700,000 0
O2+g8H =50 X&
3,700,000,000& * 14l 3,700,000
ELISHARHEAE BN S 20,000 20,000 0
301 et d = 20,000 20,000 0
NJIEEd=S 20,000 20,000 0
OEYNSHARY =243
20,000,000& * 14l 20,000
SEHAXR 18,000 18,000 0
< 18,000
307 gl2tol & 18,000 18,000 0
< 18,000
09 2HAHAEXES 18,000 18,000 0
O3gdHAa XA 18,000,000& * 14l 18,000
< 18,000
HAEHDE 22H X2 10,000 0 10,000
307 eIzl & 10,000 0 10,000
02 QItFAE XS 10,000 0 10,000
OHAHOE 294l XN&
2,000,000& * 5JH A& 10,000
wWEotAE AL 22| 495,623 516,147 AN 20,524
WEHMAILd S22 495,623 516,147 AN 20,524
201 £B-2dH| 66,740 69,540 A 2,800
02 =224l 66,740 63,540 3,200
Onsdlss A3
65,0003 * 74.79400 2 + 123 58,340
OUXNZI2LIHHAAE 3l AEE
100,000& » 70H2 « 123 8,400
401 AIEHI L 2CHEI 428,883 446,607 AT,724
01 A& tl 426,300 444,000 A17,700




A XN SEEH D
M nsSdHA A
oel: DESHEALRE GEERED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OQunENzI AL 25,000,000& * 3IH A 75,000
OLFMOAHI wH 10,000,000 * 404 A 40,000
OJIEt DEUX ALE S (BAZ BHES)
500,000& * 204 A 10,000
Os2& A& & DH 5,000,000& * 3000 A& 150,000
Os2ddE 2 960,000 * 54 4,800
OsZ& EX8 Mg 2 DX
250,000 = 3070 & 7,500
OZ&s u4 1,000,000& = 200 2 2,000
OdeEs A4 5,000,000& * 6IH A 30,000
OL%M5S Y F2S NF DA
2,700,000& * 202 54,000
OLZzns&dss uA 600,000 * 60%= 36,000
OQULSHMEL(OFZEAX )
1,200 = 10,0000H 12,000
OusSHNMEX T AX| 1,000,000& * 501 A& 5,000
03 A& 20H Y| 2,583 2,607 N24
OunsasI »ws 75,000,000& = 0.90% 675
Oogdes a4 30,000,000& = 1.14% 342
Oulsll &« B2S X A
54,000,000& = 0.90% 486
OsZ& A8 & WA 150,000,000& * 0.72% 1,080
HHSHHH(XNGZ M) 64,744 74,284 A 9,540
JlEAdd (e 64,744 74,284 N 9,540
NESE3ME JI=23Hl 25,137 30,269 N5,132
201 Bt 13,097 16,229 N3,132
01 AtSR 22l ] 13,097 15,813 N2,716
Olget2d|] 9,569
OFRNE2E SHHA 9,569,000 * 14 9,569
Ol2gHdl] 3,528
ORNEYE SHAHAN 7,000& * 721 % 72 3,528
202 044l 7,840 7,840 0
01 2LHOHI 7,840 7,840 0
ORNEE SHH A 20,000& = 7921 x 56 7,840
203 & R =&H| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORANEYE gRF=AY| 350,000& = 12& 4,200
HaL-ZcA22E I8l 16,235 18,046 A1,811
201 et A | 10,235 11,446 A1,211
01 At 22l ] 9,744 10,900 A 1,156
Olgetsgdl] 2,160




AN XSEEH
M #Y2IZH (RS ZEHD)
¢elr Jl2&dl(ge) cf
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORN2E SUNY 2,160,000& = 14 2,160
Ol=&Hl] 2,184
OFRN2E SUAHL  7,0008 * 62 » 52 2,184
Ool2g=+¢] 5,400
oHAaLZ2clA ¢
50,000& = 121 = 108 5,400
02 =224l 491 546 AB5
O[¢ZHl] 491
OHIZLEelA HEAIE HEH|
1,364.94& * 359L 491
202 044l 6,000 6,600 A 600
01 SLHOYI 6,000 6,600 A 600
FA2E SHAY 20,0003 = 62! » 50 6,000
nsddE JI=234l 11,582 12,869 A1,287
201 Let249] 4,722 6,009 A1,287
01 At 22l 4,722 6,009 A1,287
Olger=&tl] 2,013
OFRN2E SUNY 2,013,000& = 14! 2,013
Ol=&Hl] 2,709
ORMN2E SHUAY
7,000& = 102! = 38.7¢ 2,709
202 Oddl 6,860 6,860 0
01 = LH 4 Hi 6,860 6,860 0
ORNZ2YE SN
20,000& = 10Q! = 34.3¢ 6,860
JSENXNEE JI=3Hl 11,790 13,100 A1,310
201 Let249] 4,930 6,240 A 1,310
01 At 22/l 4,930 6,240 A 1,310
Olger=2tl 1,990
ORAN2YE SHAHA 1,990,000& = 14 1,990
Ol=&Hl] 2,940
OFRN2E SUAHL  7,0008 + 72 » 60 2,940
202 (44l 6,860 6,860 0
01 S LHOIYI 6,860 6,860 0
Ol=oddl] 6,860
ORA2E SHUHL 20,0008 * 72 » 49 6,860
MREsS (XS ML) 2,200,000 1,200,000 1,000,000
WEHHX S 2,200,000 1,200,000 1,000,000
T2 SAINISHAZ 200,000 200,000 0
702 JISEEZ 200,000 200,000 0
— 16 —




2N
X ZH -
L= B

el

PRS- DS

Hees (NGB M)

WEAHAH X =

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %Eﬁ HRE2
MosEE2 200,000 200,000 0
Ogax =AJ|Ids4I2 X4
200,000,000& = 14l 200,000
S2HXNZLEANS (S2HXZLEALELESH) 2,000,000 1,000,000 1,000,000
701 JIEIS|I HE =2 2,000,000 1,000,000 1,000,000
01 JIEIS HE &2 2,000,000 1,000,000 1,000,000
OYUsZTR T4 ALY
2,000,000,000& * 14! 2,000,000




